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H/w Q. The distance between two longitudes at the equator 1s approximately

km.
WHE LT 0 &1 QRTILl o e i gl T e
S.S.C. AT HTdeh a0 (T-1) 11 3T, 2017 (I1- 9Tet)

(a) 101
(b) 111
(c) 121
(d) 91
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* Tl AT SfET ger ol et Arell T i dRri
T e § | HET T 9T &1 QR o sfter o6l gl
ST 111.32 foreft. 21

®* The line joining the North and South Pole is
called the Line of Longitude. The distance

between two longitudes at the equator 1s about
111.32 km.



% Rekha Mishra2 1 hour ago Mritunjay 2 hours ago

Qj, Thanku sir m 111 is right answer
e 1 GH REPLY gLy GA REPLY
+ 1 REPLY

Bishnu 21 hours ago
e Anupa Kerketta 21 hours ago 111
Hw ans (b) ‘I_‘I1 | _ & 2 oF e
Thank you sir amazing session

1 REPLY
e 1 GH REPLY -

v 1REPLY Farooqui 21 hours ago
D

Surbhi Sinha 21 hours ago

111 Option BEB confirm il 1 GF REPLY

e 1 5P REPLY + 1 REPLY

~ 1 REPLY |
, \ Pragya Chaubey 21 hours ago

o ABHIJEET CHOUDHARY 21 hours ago é 1
Good il 1 SR REPLY
e 1 GH REPLY + 1 REPLY

1 REPLY



WORLD MAP: GMT, TIME ZONES & IST

Greenwitch Mean Time (ZF{=l 9 2T3H)

®* GMT- Time at the 0 degree longitude (Prime
Meridian)

o SfuHE- 0 Tt ST o | (Y39 Aiisa)

®* London's Royal Greenwich Observatory's
Mean Solar Time has been assumed to be
Greenwich Mean Time (GMT). . .

T o MMl MHT JERMAT o6 HIET R
O ol UAfaer ATed |99 (Greenwich Mean
Time / GMT) AT T ¥ |
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International Meridian Conference

: . ® October 1884 - International Meridian
. Conference held in Washington D.C. 1n
- L U.S. to determine Prime Meridian for

il

International use.
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UTC (Coordinated Universal Time)

* UTC (Coordinated Universal Time)
replaced GMT 1n 1972 as the time
standard.

* I (HIHATTEACE YHadd <8H) 7 1972 |

SHTTAST Sl THI ATk o ®Y H e [T |
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Time Zones (45T 6'33[)

®* Time Zones - regions on Earth that use the

same local time/ standard time. The whole

world has 24 standard time zones.

R & - gl O UM & S 9 S

E/HT {HI T STANT hLd & | T g o

24 HEEHT ST 2 |

Each zone contains 15 longitude or one

hour.

Tk S H 15 SIMAC AT UH B BId 2 |
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Calculating Time

® Total number of Longitudes: 360

® Total time 1n a day: 24 hours

* Total Longitudes covered in an hours = B 15 longitudes

Each longitude takes = 15 hours = TR 60 = 4 min.

* G.M.T (Greenwich meantime) =0°

1
* [.S.T (Indian Standard time) = 8250

® Difference of time =82.5 x 4 = 330 min or 5 hours 30 min.
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Indian Standard Time(IST)

1
' ®* IST is based on longitude 825 °  which
Adopted | 1947 h P o Sl passcs through Mirzapur, near Allahabad

[éiﬁe(rfnc: V(;lith | N in Uttar Pradesh.
oordinate e :

gﬂgmmme ' -IST%rslTawz— T ST €, ST 3T JaT
| § ' ﬁ%vll'&il@llc:%Wﬁlﬂ’fﬂﬁﬁl%{‘lwidlél

Longitude
= e ST is 5:30 hours ahead of GMT/
Mirzapur, Uttar

| reference
% D Coordinated Universal Time (UTC)

Shankargarh RREES , S
Central ot Alababad * [ST GMT/ISATTEALE FHTH 25H (UTC)

observatory | district, Uttar é ¥ 5:30 5 M %|

| Pradesh

82.5°E




London (Greenwich) India at (1.S.T.)
12 : 00 Noon 5:30 PM.

The 0°
longitude also
called the
G.M.T. and the
I.S.T.

82 1/,%differ by
82.5 longitudes,
thus I.S.T. is
82.5x4 =330
min. or
5 hrs. 30 min.
ahead of G.M.T.
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Q.1 In which unit latitudes are measured?
AT ohl Tohd SehTs H HIYT ST & 2
SSC. AT MTS (T-1) 20 f&es® 2017 (I11- 9Teit)

(a) Radians AR

©)) Steradian/&SIA

(c) Degree/3I0

(d) Decimal/@™ed
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® 37T ol 3TT (Degree) T HTAT SITAT B ST&TIT,
mw“{@ﬁw%ﬁww hl I AT
<foofy ge s AT i gl 1 T 8
W‘(@Tﬁm%ﬁ\ﬁwwl AT TR 2
7e7ST Y@ Tl O iEW WY shi A S

TS ShIcq -k L@ 2|

* Latitudes are measured 1n degrees. Latitude
1s the name of the angular distance of any
place from the equator to the north or south
pole. The equator 1s considered to be the
zero degree latitude line. Latitude lines are
imaginary lines drawn from west to east on
the globe.
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Q.2 Why 1s 82.5° East longitude important for India?
82.5° q&f GRTAL I o T T Heeaquf &2
S.S.C. AT LAUTHL, 13 s, 2017 (I-9Tef)
(a) It affects the climate of India/ I8 HILd
EASKEIR RIS BICANRIR

(b) It determines the Indian Standard
Time/I8 AT HAHS T8I HT Hor
AT 2

(¢) Near this longitude: -is  situated
Allahabad/38 <M & U IARIERE
e B

(d) It influences the customs of India/ I8
LT o Gf-famsi o grer Sretar 2
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® 82.5° Ud QR 1@ H & YT o Wb G
ST T fomam T 81 YA 919k 999,
T T8 LT ¥ 5.30 5T 3T 2|

®* The standard time of India has been
determined from the longitude line of
82.5° East. Indian Standard Time 1s 5.30
hours ahead of the prime nieridian.
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Q.3 The longitude distance for an interval of two hours will be equal to
31 5 oh AU o fofq Semiet gl o SIS BT |
S.S.C. ST C.P.0.S.L (T-1) 7 [T, 2017 (I-9Ted)

(a) 15°
(b) 30°
_(c) 45°
(d) 60°
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* 1° QRTic st gl qF T | qealt hl 4 e
1 T AT S | 3 > 52 3ot 120 fire
o A o {eTq 30° <ITaT =kl gt Sruferd

2|

® The Earth takes 4 minutes to travel a

distance of 1° of longitude. Therefore, a

distance of 30° longitude is required for
an interval of 2 hours 1.e. 120 minutes.
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Q.4 Through which of the following continents all the three lines of latitude 1.e.
Equator, Tropic of Cancer and Tropic of Capricorn pass through?

Ffctiad & | fore TRTET § T ST&I1R1 [ETT, ST e (@, Sheh W@l a9l Hel
eCIR CIRIS TG Y S.S.C. AHATE C.P.0.S 1. (T-I) 2 [T, 2017 (I- wreth)

(a) North America/3d TR

(b) Asia/TRTIT
(c)ﬂ South America/&ToT-310 TRt
(d) Africa/3ThIehT
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* ITHIRT, UHHATT HETEIT ©, SOd BIh ohoh,
foIeIaT T Wkt W TSR 8| ST § e
HeRL L@, I&0T STHIHT § {oyad e Herd 1@l

T TRIAT § heh T foerd @ et &

® Africa 1s the only continent through which
the Tropic of Cancer, the Equator and the
Tropic of .Capricorn pass. Only the Tropic of
Capricorn passes through Australia, the
Equator and Capricorn through South
America and the Tropic of Cancer and the
Equator pass through Asia.
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Q.5 What 1s the time difference between any two continuous longitudes?

foreY 21 fiaT <eTiaRl o s 98 1 37X foma T 2iaT 22
S.S.C. AT C.P.O.S.L (T-1) 1 [T, 2017 (11- TTed)

(a) 10 minutes/10 e
(b) 14 minutes/14 Er
(¢) 4 minutes/4 T
(d) 30 minutes/30 T
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Q.6 Which of the following imaginary line lies at 0° latitude?
ATTRad § § Thi-H1 shieuieh {@T (0° 3787737 9T fEord © 9
S.S.C. ST C.P.O.S.L (T-1) 2 [T, 2017 (I-9Ted)

(a) Equator/ W@T

(b) Tropic of Cancer/aheh (@

(¢c) Tropic of Capricorn/l-loh{\{{ell
(d) Standard Meridian/ Hldh Tz
@
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* VHEY @ AT {Yad W@ 0° & @l
o & | I8 W@ §9l geelt i I SR
gfeoft Mt H forrfora shedlt 2 |

®* The equator or equator 1s located at 0°
latitude. This line divides the entire earth
into northern and southern hemispheres.
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Q.7 Which imaginary line divides the globe into two equal parts?
FI-HY HTcd (=R 1@ Tl hl ST S YHT § sied! a7
S.S.C. ATART MTS (T-I) 20 s, 2017 (I-9Tet)

(a) Tropic of Cancer/ heh T@T

N AN
(b) Equator/I9Ydd Wl

(¢c) Tropic of Capricorn/l-loh{\{{ell

(d) Neifher of the above/STXk H ¥ Hig
ek
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Q.8 The Earth rotates by what degree in four minutes?
el = fHee § Tohe 3 5H STl &7
S.S.C. AT MTS (T-I) 14 TSR 2017 (11-UTedT)

a) 4°
b) 36°
c) 10°
d) 1I°
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* geaft TR e H 1° 97 ST & | 36 TR 24

5§ geaft 360° AT 2 |

® The earth rotates 1° in four minutes.
Thus the earth rotates 360° in 24 hours.
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°  180° FA=RIEE fdfyr War § Ffd i A6 o hi
ANTGAT2 dl 12 ®dg SId 2 | 180° ufyH <hi
I TQAT & dl 12 = T GHI HA & SId 2

® If a traveler moves east from 180° International

Date Line, then 12 hours increase. If we move
towards 180° West, then the time of 12 hours 1s
reduced.

o il fafor v 6 O ST R S 24 5

T IALEATR |

® There 1s a difference of exactly 24 hours on the
East and West of the International date line.



